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BACHELOR'S DEGREE PROGRAMME (BDP) 

Term-End Examination 

June, 2013 

(APPLICATION ORIENTED COURSE) 

AEC-01 : ENVIRONMENTAL CHEMISTRY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt all the questions. 

1. 	(a) Fill in the blanks for any five of the 

following : 	 1x5=5 
(i) The soil organisms which can 

synthesize their own food are called 

(ii) Atmospheric pressure and density 

	 with height. 

(iii) Global warming is also called 

	 effect. 

(iv) The metal associated with Minamata 

disease is 	 

(v) Hexachlorobenzene is used as a 

(vi) The number of gram equivalent weight 
of a substance present in one litre of a 

solution is known as 	of a 

solution. 
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(b) Write the full form of any five of the 
following : 	 1x5=5 
(i) COD 

(ii) PAN 
(iii) CFC 

(iv) NAAQM 

(v) NEERI 

(vi) PAH 

2. 	Answer any five of the following : 	 2x5=10 
(a) How is "pedology" different from 

"edaphology" ? 
(b) Name the primary minerals present in 

sedimentary rocks. 
(c) Why micronutrients are available in acidic 

soils and not in alkaline soils ? 
(d) State the uses of water quality criteria. 
(e) Why chemical fertilizers should be 

supplemented by organic manure ? 
(f) River water has dissolved oxygen content 

of 11 ppm during winter and 9.4 ppm 
during summer. Explain. 

3. 	Answer any five of the following : 	 2x5=10 
(a) What are the essential elements ? Give any 

two examples. 
(b) State the difference between reverse osmosis 

and electrodialysis. 
(c) The water flowing through sulphide mines 

is corrosive. Explain. 
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(d) State the effect of high bicarbonate 

concentration in irrigation water. 

(e) Write the chemical reactions involved in the 

formation of ozone gas. 

(f) Define pesticide with an example. 

	

4. 	Answer any five of the following : 	 3x5=15 
(a) Define the following terms : 

(i) Herbicide 

(ii) Nematicide 

(iii) Rodenticide 

(11) Write the harmful effect (one each) of heavy 

metals, cadmium, mercury and lead. 

(c) What are the important parameters for the 

characterization of sewage ? 

(d) How is the total hardness of water 

determined ? 

(e) Differentiate between the function of 

aerobic bacteria and anaerobic bacteria. 

(f) What is the significance of texture and 

texture analysis in deciding the soil 

quality ? 

	

5. 	Answer any five of the following : 
	 3x5=15 

(a) In what way is crop rotation good for soil 

management ? 

(b) Differentiate amongst mist, smoke fumes 

and dust. 
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(c) What will happen when silver chloride is 

exposed to sunlight ? Write the equation 

used for the calculation of percentage of 

chloride. 

(d) Name an three bacterial pathogens present 

in sewage and diseases caused by them. 

(e) Name the preservation techniques used for 

water samples. 

(f) How does eutrophication affect an aqueous 

system ? 

	

6. 	Answer any four of the following : 
	

5x4=20 

(a) What is a Standard Hydrogen Electrode 

(SHE) ? Give the reasons for selecting SHE 

as reference electrode. 

(b) Give the mechanism by which the air 

pollutants damage the materials. 

(c) Explain the instrumental method used for 

CO analysis in the atmosphere. 

(d) Describe the Integrated Pest Management 

(IPM). What are its advantages over 

conventional method of pest control ? 

(e) Explain how the vegetable fibres are 

converted into finished fibres. 

	

7. 	Answer any four of the following : 	 5x4=20 

(a) What are the sources of wastes in a dairy 

plant ? Explain the short aeration method 

for the treatment of dairy waste. 
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(b) What is biomonitoring ? What are its 

advantages over chemical monitoring ? 

(c) Define chromatogram. Give the advantages 

of paper chromatography. 

(d) What are the different electronic transitions 

that occur in U.V. region. Explain them 

with example. 

(e) What are the indicator micro organisms ? 

Give their characteristics. 
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